
ТЕМА: ДЕЛЕНИЕ С ОСТАТКОМ. 
ЗАКРЕПЛЕНИЕ. РЕШЕНИЕ ЗАДАЧ



30 : 10 =   45 : 9 =    15 · 7 = 
20 + 19 =   80 : 16 =    98 – 15 = 



ИГРА «БАСКЕТБОЛ». 

                   32 : 8                     42 : 7
                   54 : 9                   36 : 9
                 18 : 3        16 : 4      26 : 6
4 9



САМООПРЕДЕЛЕНИЕ К ДЕЯТЕЛЬНОСТИ

34 : 6                  42 : 5



ДЕЛЕНИЕ С ОСТАТКОМ

17 : 4 =      27 : 5 =     27 : 7 = 
22 : 6 =      59 : 9 =     43 : 8 = 



КЛЮКВА



ГЕОМЕТРИЧЕСКИЙ МАТЕРИАЛ

4 см                   4 см 

            6 см



КРОТ              ЯГОДА             КОНФЕТА
(4 – 1) = 3        (5 – 2) = 3            7 – 3 = 4



Молодцы!


